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a— R i itk | PR (kg) %8 (M) =Y il Sl E (BAL)
Y3002 =H (&) 19 16, 178 1,458 238 216 | BA 19kg
31200 L3 0 324 324 324 324 | B IR
31940 Fi-@ERE 11 356 32 32 32 B 113
31900 ¥ 11 5, 152 486 486 486 | BN 11kg
34300 723 6 783 27 27 27 1 B 297K
Y3058 HE k< k 2 702 70 70 01 BH 1003y 7
34500 E—~ 12 3,434 324 324 216 | BN 12kg
Y3033 IS 59 15, 345 281 270 238 1 BN 59kg
136200 HinE 40 432 11 11 11BN 40kg
36600 7-FiX 50 5, 400 108 108 108 | BN - 50kg
34930 LA ¥ 41 9,278 76 76 12BN 1374
34980 ~bFE 3 540 54 54 54 B 1042
35940 AEWTEAE 83 53, 573 702 702 378 | BN 83kg
31500 /A3 0 324 324 324 324 | BN 1R
31500 /A3 2 1,188 119 119 119 | B 1048
34800 BB 1,134 378 378 378 | BN RERS
34800 B B 35 28, 608 86 86 76 | B 348% v
34600 LL&E 2B L 6 1, 490 270 238 238 | B 6kg
37600 H Xk O M 1 518 864 864 864 | BN lkg
48000 g U 220 27, 486 972 648 216 | B 4418
Y4010 /pNETVH 220 28, 199 400 216 216 | BN 11018
47106 FAI—Aw L 45 12, 960 540 540 324 | B 3018
49470 Ny arIA—Y 58 61, 403 146 135 59 | BN 575{H
1 21010 K3 19, 343 86 54 54| BN 2904
71011 RS L —% 20, 790 76 54 54 | BN 13407
71040 FEANE 1,901 119 119 119 | BA 164
71150 LT 1,728 54 54 32 1 BH 403K
39870 Z Dt 3 11, 664 4, 320 4, 320 4,320 | B 3kg
Y3028 % 30 5, 832 194 194 194 | BN 30kg
30100 7ZWVWZ A L 10 2, 160 2,160 2,160 2, 160 | &2 17—
30100 7“WVWZ A M 54 12, 442 216 205 205 |dcigE 604
30300 A% L 50 9,072 1,944 1,728 1, 728 | Rl 54— A
- 31100 B¥ 2L 60 4, 752 1,188 1,188 1,188 | R & 44— 2
33810 HREEE 4 2, 808 140 140 140 |BIR B 2048
137440 VbR 2 896 896 896 896 |FEIR B 1r—=
31700 F ¢y 350 11, 556 432 324 324 |BESE 354 —
31800 I NAE , 4 1,026 86 22 22 |BIRE 204%
31900 ¥ M 5 5, 940 594 594 594 | EIRE 103R (500g)
31930 ~h¥ 3 3, 240 108 108 108 | K45y 304%
32800 |z S 4 1,026 32 32 16 | & 1% 4038
34300 724 L 5 2,160 2,160 2, 160 2, 160 | fEA 17 —=




tih HE o Boems gH
a—K dh Gk | PERR (kg) & (M) =il o Sl E (BAD)
34300 7o L 10 6, 480 3, 240 3, 240 3, 240 | =I5 24— R
34400 k=< h 12 2, 052 756 648 648 | HEA 37—
34400 k= b o 22 6, 221 86 86 86 BEIRE  725v 7
34100 /K 2L 5 1,836 1,836 1,836 1,836 | &I 1 —=
34571 57V B (5R) 2 1,296 130 130 13068 E 10{&
34572 NTF VU H (3H) 2 1,037 108 108 65 | 4 [E 101#
36200 FEEnE 2L 50 1, 080 216 216 216 | R 54— R
37200 L & 9 A% 2L 8 3, 402 1,728 1,728 1,674 | $[E 24— &
33400 L& R 2L 24 5, 184 108 108 108 | E % 481H
33600 /%t 1 . 432 108 108 108 |f& M 445
38100 £ LW=iF : 14 5,918 65 43 33 | B IR 14078y 7
31310 AT 5 810 - 32 32 32 | f&E 254%
31500 /M3 8 5,184 130 130 130 | BIRE 404%
32500 HoiF 2 1,328 76 65 65 | & 203
37560 BT 1 2, 700 540 540 540 | K4y A
30910 FF 4 v = 1 216 22 22 22| ERE 104%
Y4008 NT RBEDA L 10 6, 264 3, 240 3, 240 3,024 EIRE 27— A
41410 LE A 10 486 486 486 486 |EIR & 1r—2=
42830 5LV w= 10 7,020 7,020 7,020 7,020 | LT’ 17 —=
45220 FIU T 1 810 270 270 270 | #& i 3Ny
45220 T U =T oM 4 3, 240 1,620 1,620 1, 620 | BB 24— A
44500 TH b 3L 6 5,227 270 270 248 | 1@ 207y 7
Y4010 /NEF D 50 5, 832 378 248 216 |HEA 211H
Y4001 B=EAT Y L 6 1,296 216 216 216 | IR B 6f#
49100 /SFF 120 24, 408 2,808 2, 484 2,160| 7 4 Y BV 10—
49200 SA LT v TN 8 594 32 32 11| i 254F
44400 %S BV v 10 5,616 281 281 281 | B 2008y
49470 Ry arTIA—Y  |B S 1 216 54 54 54 | BB 4%y
Y5006 FHIR (&L 80 22,723 2,894 2, 894 2,786 | IR & 87— A
Y5006 EBIN (B4h) 56 14, 342 187 187 157 |EIRE 80,3y 7
CEl L 2,050 536,393 |
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